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(10) FRE 28 &£ BRIN(ERAB)KERERE
B B | rEaE o = = 5
" A 519 TH128 A58 TTHI0E 1A128 IERE T TREE wom [ 8~ sx [ JER
PH 7.6 8.2 74 7 7.9 7.8 65~85 0% 77 ] 7 ~ 82 N 17

4+ [ BOD 1.7 15 1.1 1.2 1.5 0.8 2 0% 13 |C 08 ~ 17 O 13
Ss 48 438 3 3.2 1.6 44 25 0% 36 JC 16 ~ 48 )| 36

= | DO 11 11 9.3 11 13 13 75 0% 11 (93 ~ 13 ) 11
PNCEEE 17000 9200 3500 5400 230 490 1000 67% 6000 |( 230 ~ 17000 )| 6000

B | A UREYE ( ~ )
Jx/—)L¥E ( ~ )

iﬁ ﬁ]ﬁ] ( ~ >
Fh ( ~ )

15 | AR ( ~ )
BRI AY ( ~ )

g [ 484 ( ~ )

( ~ )
EIEPIN <0.0005 <0.0005 0.003 0% <0.0003 |( <0.,0003 ~ <0.0003 )] <0.0003
STV <0.1 <0.1 T 0% <00 JC <01~ <01 )| <01
A - ( ~ )

D <0.001 <0.001 0.01 0% <0.001 )C <0001 ~ <0.001 )| <0.001
=N <0.005 <0.005 0.05 0% <002 J( <002 ~ <002 )| <0.02
fitx 0.001 0.001 0.01 0% 0.001 JC 0001 ~ 0001 )| 0001
IKER <0.0005 <0.0005 0.0005 0% <0.0005 [( <0.0005 ~ <0.0005 )] <0.0005

= | 7ILXILKER <0.0005 <0.0005 T 0% <0.0005 |( <0.,0005 ~ <0.0005 )] <0.0005
PCB <0.0005 <0.0005 TR 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005
M)9ORIFLY <0.0005 0.03 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005
TF59001FLY <0.0005 0.01 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005

LR IPZIEEEE D <0.001 <0.001 0.02 0% <0.001 )C <0001 ~ <0001 )| <0.001
mig{ERE <0.0002 <0.0002 0.002 0% <0.0002 J( <0.0002 ~ <0.0002 )| <0.0002
1, 2—Y5AA1%Y <0.0004 <0.0004 0.004 0% <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1—Y900IFLY <0.001 <0.001 0.1 0% <0.001 )( <0001 ~ <0001 )| <0.001

= | YA—1, 2—Y9AAIFLY <0.001 <0.001 0.04 0% <0.001 J( <0.001 ~ <0001 )| <0.001
1, 1, 1—M)yAAIEY <0.001 <0.001 1 0% <0.001 )( <0001 ~ <0001 )| <0.001
1, 1, 2—M)pAATSY <0.0006 <0.0006 0.006 0% <0.0006 |( <0.,0006 ~ <0.0006 )] <0.0006
1, 3—Y79007° ANy <0.0002 <0.0002 0.002 0% <0.0002 |( <0.0002 ~ <0.0002 )] <0.0002
FI5L <0.0006 <0.0006 0.006 0% <0.0006 |( <0.,0006 ~ <0.0006 )] <0.0006
P <0.0003 <0.0003 0.003 0% <0.0003 |( <0.,0003 ~ <0.0003 )] <0.0003
FAR AT <0.001 <0.001 0.02 0% <0.001 J( <0.001 ~ <0001 )| <0.001
Y <0.001 <0.001 0.01 0% <0.001 )( <0001 ~ <0001 )| <0.001
LY <0.001 <0.001 0.01 0% <0.001 J( <0.001 ~ <0001 )| <0.001
RV ERERBITESR 0.9 0.9 10 0% 090 | 09 ~ 09 I 090
S <0.08 <0.08 0.8 0% <008 J( <008 ~ <008 )| <0.08
[EES <0.01 0.05 1 0% 003 J( <001 ~ 005 )| 003
1,4-Y' 139y <0.005 <0.005 0.05 0% <0.005 | <0.005 <0.005 )| <0.005
EXE 1.4 1.2 1.10 1.1 1.2 1.2 1.2 I 110 ~ 14 ) 1.2
£ 0.03 0.02 0.04 0.04 0.05 0.07 004 |C 002 ~ 007 )| o004
B4 HmEHER <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <005 J( <005 ~ <005 )| <0.05




